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On decoding error correcting codes for linear network coding

goooex
Masazumi KURIHARA

Abstract— In this paper several decoding methods for er-
ror correcting codes(ECC) for linear network coding are
presented. We introduce a concept of a parity check matrix
and syndromes into the decoding the ECC. We treat three
types of 1) errors, 2) erasures, and 3) errors and erasures as
noise in a network. For each noise, a decoding method by
using the parity check matrix and syndromes is given and
its time complexity is estimated.
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Matsumoto[8] D00 NECCUOUOOOOOOODOUOOOOOO
00O00O00. Zhang[4, 5] 0 Yang O [7]0, 000000

gbooooooooobobooo,boboooooooo
00000000000, 00, Matsumoto[8] O exhaustive
search 0O00000O0OC0OOOO.

00,000000,BahramgiriO [9]0, 0000000,
o00oO0o0oO0oooooO0oo0oooooooooooooo
ONECCODOOO,00000000000000000O
O0.0000,NECCOO0O00O0O0O0OO0O0n0oooooonn
000000000000 0000000000, Bahramgiri
0O9oooo0oo0oooooUoon. 0oooooooo
000000 BahramgiriJ 90 000000000000
gboboooobooboooooboo,booboboboo
00000000000000000,¢* 00000000
ooooooooo.od0o,q0 k0,000 F, 00000
NECCOOOO kO00O0O0OO0OO0O0OO.

0000, Matsumoto[8] 0D DOO0D0O NECCOOD
000000000000 o«-000000 (Network a-Error-
Correcting Code(No-ECC)) DO O0O0DO0O0OOO0OOO.
oooo0ooooooo.2000,00000, 800000
O Ne-ECCOOODOOOOO0O0. 2000, Ne-ECCOODO
O0o0o0o0o0O0ooO0oooooooooooo. 0ooooon
oooooooo 1)00,2)00,3)00 +000 300
oo0o,0000000o00oo0ooo0: 00000 4
0),000000 (b0), 0000 (60),00+0000 (7,
80). 000,9000000O.

2 00
O000,00000, Matsumoto[8] OO D OO0 Na-
ECCOOO0OODOOU0OOOOOOO.

oo F,0 ¢gO0000O000OOOODOO.OO0OO,000
00000, Ne-ECCOOOOOOODOOOOOOO. OO
oooo0,000000oo0 G=(V,E)0oo. ooo
ooooooo,F,010000000000000000O
0O0.00 s(eV)U T(CcV)UoOoooooooooOoo
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0 (wOOOOOO)O000000000. 00000 e€E
00O, start(e) (end(e)) O, e 000 (00) 00D,
000000 GOO00000000000000, 00
ieFr00000D0000D0ODOOOODOO0DOOO
NECCOO,0000000000000. 000 ecE
00O, start(e) 0000000000 end(e) 000000
000D00000,000 e00000000000. OO
0,0000,000000000000000000000
0.000000 GOOO000D00D0 e eF? 000, O
000 #00000000 w@ 00D0.
Ne-ECCOO,000000 ¢cFf' 0 w@)<aOOD
0000,000000000000000000 7eF:D
00000000000000000000000000. 0

00,nkae0000 n—k>2«0000.
00 FOOOO E0O0OOOO, |F|=2«0

000.0000,FO00000000000,F

000O00O000000000000.

00 7eF:000 eeFf 000,000 teTOOO

000000000000000000 é(i,¢) eFy ®lo
00 (Definition 3 in [8])
Matsumoto[8] D OO OO0OO,F, 00000 Na-ECC O
00000D0000.00000,00000000000
00000 local coding vector 00O O0OO. OODO, D00
0000000000 (Section 3in [8] DO D).

Vi ={¢:(i,e) | i e FE, e e FIF}, (1)

Va = {$:(i,0) | i € Fi}, (2)

Vs = {¢:(0,0) | €€ FIF1}. (3)

goo,ooon éDEIEIEME\FDDEIEID egoooa

O00. 0000,0000000000 (800 (3,6,7) O
oo)

Vi=Vo+4 Vs, (4)

dim Vs = k, (5)

dim Va NV = 0. (6)

ooooouooo,ooo00ooouoooooooooo
000 local coding vector OO0 OO OO0, 0000, ¢ O
000oooodoU0.ooogdo,0o0o0ooooooooog

00,¢: 0 F,00000000000000000000
0.000000,000 4,5 €FE &,8eFP'oooo

a1,a2,b1,be €F, 000,000000000

pr(arin + azia, b181 + b2éz) = a1 (i1, 0)
+asi (i, 0) + brpe (0, 81) + bagpe (0, €2) (7)

00,0 (6)00,000ieF0eeFP 000, w?E)<a
000, ¢u(i,€) O ¢u(i,€) = ¢4(3,0) + ¢¢(0,6) 00000 D
oooooooo. .
000,0 (500,000 z2€Ve 000, ¢:(,0) =2 O
000 ieF0000000. ¢ 00000000000

gooOo,00000obo0ob 200 i000000O000
ooo. oobo,bo0,e00b0b0bOOoObOODOD,

2€V, 00000 7€Ft O

-

¢: ' (2) =1 (8)
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00000000000,00 k00000 V200000
00 Vit ={weFy @ w” =0forallve V000,
000, 00000 v000000. 000000000
00,V 00000000,dim Vi- = |0 (t)|-k0000
0O.000,(V)*=%wooooo.

00 V000 |~ (®)|-k0000000,000000
OF, 00 (- () —k)x|T"(#)| 000 H,OOO.OOO
O,0000000.

HtZT = OT
H.z" #0"

for all z € V3, 9)
for all z € FlY I\ 15, (10)

00,0000000 0=(0,...,0)F W~*pgpono.
0HOV,00000O0ODOO0oooO.
0(9,10000,000ieF0eeFf 000,
Hi(i,8)" = Hegn(7,0)" + Hegr(0,8)" = Hi:(0,8)"

00000.000 zeF) P'000,000000 o(z) =
(01(2), -, o)p— () —k(2)) € Fy ®=* o

o(z)" = H;2" (11)

00000.0000000000000000,0(2) 000
000 dego(z) O

deg o(z) =min{i | 0i(2) #0, 1 <i¢ < |I” ()| —k} (12)

gooag.
000 teT 000,V 000000D0D0O0DO0O0O0CDOO
0.0000 (o0ooo0)o 10,00,0000 100

000 ¢000000000000 6(0,8) 0000

Ur = {6:(0,8) | €€ Y, w(@) =13\ {(0,...,0)}  (13)

000. 000,0 (13)0 ¢0000000000. O (7)
00,000 ¢e F¥' 000,000 t+0000000O0

qbt(dé’)D7UtDDDDDDDDDDDDDDDDDDEI.I]
ooo1l1oooouu.boooboooooooooooo

p1(Ue) = {{u} [ {u} € Us} (14)

000.0000,|pu(U)| = (Y =t;/000. D00, O
0 () 0000 {4} 000,«000000000000
F,000000000000. 0000000 spn({u}) 0O
O00000.0000,00 y;i(U,) 0DDO0OO0O00O0OO
00000 (0)0ODODO0O X00000000000. 000,
@ (U) 000000 {«} 0 {«/} 0000000000000
O spn({u}) O spn({x'}) 000,0000000 spn({u}) C
spn({v'}) 00000000, {u} X {«}00000. O
1) C spu({w’}) OO spu({u}) 2 spn({e'}) OO
{ (#/}DO0ODO00. 000, 0000
gooooocoooooobobob.

maximal(p1(Ut)) (15)

goooooo,b0oo00oooobooocoooobooooo
oooooo.

4 000000 /e-0000

4.1 0O0OOOOO
oooO,000000000000D000, Ne-ECCOODO
0000000 /e-000000000000D000DO.

Initialize M = maximal(p1(Uy)).
1. Input the received vector z.
2. Compute o(2)T = Hy2T.

e

. Ifo(2) = 0 then output the information vector ¢; *(z)

and halt else goto 4. (See the eq. (8) for ¢; '(2).)

4. Choose an {u} € M and compute o(u)T = Hyu”.

5. If deg o(z) = deg o(u) then set m = deg o(z) and
goto 6 else goto 7. (See the eq. (12) for deg o(2).)

6. If o(z) = 222 5(4) then output the information vec-

T oom(w)
tor ¢; M (z — Z’"Ez)) u) and halt else goto 7.
. Update M = M \ {u}. If M = () then output “Error

is detected” and halt else goto 4.

O0ONIDOO0D0D00000000000. 00000,0
00 208A0000000.

A. Pu€ U)such that o(z) = 22 o (u) if w(@) = 1.

B. z— 22Eu eV if o(z) = 2250 (u).
00,A00000000000. 00000000000
0é 000. 0000, wE) =1 000000 veP,
00O0. DO0,00 & eFP'oe =ve, 000000

0000000. 0000, ¢:(0,&) = vp:(0,€1) 0000
0.00000,0070006 00000000000 z=
(Z*v):qs(zo)ﬂ@(oammmm 0o,U, 00000,
#:(0,61) €U, 000. 000 ufqﬁt(Oel)EIEIEI[I,DDD
I:II:IEIEI a(z)” thﬁt(z,ev) = vHp:(0,81)7 = vo(u)T.
O0000,m=dego(z) 0000, om(z) =von(v) OO0O.
DDD,U(z):va(u):%a(u)DDDD vwelU, 000
oooooooo.

00,BO000000000000, H(z— 22&w)" =0

0000000000000, He(z — 22807 = H,2T

om (u)
B ' = o(2)" — 2Eo(w)” =0". 0000,B0O0

gooooooogd.

4.2 0O000OOOOQDO

010000000 GO0O0,000 Fs=2/(5)00

Ne-ECCOOOOO. ODOO,ZO0O0OCOOOOOOOO.

gbooooooooooooooooboo n=3000. 0

O0,k=1a=1000,000000 Ne-ECCOOODO

0.k=100,0100,00000 00000 s000
gooo.

000000001000

O 1: Example of a network G = (V, FE) with the imag-
inary source node s’ and the imaginary edge ey, where
V = {s,v1,...,07,t1,t2} and E = {e1,...,e15}. Node s
is the souce node and nodes t; and t2 are the sink nodes.

00 y(le) e F, 0000 e000O0O0O0O0UOOOO. OO
0 e0000OO local coding vector 00, DO OO yle) =

Ze’ef‘(start(e)) me(e)y(e’) 0000000

(me(e/))e’ef_(start(e)) € FC‘IF (start(©)] ooooog.

000 eo O e;n OOOO local coding vector O 0O O
00 Meyy = (Meygles), megoles)) = (1,1) € Fga Mey; =
(mey, (e7),mey, (e8)) = (1,2) € F2 000ODO. 0O0O0OO,
y(eo) = 1-y(es) +1-y(es), ylenr) = 1-y(er) +2-y(es) O
O0.000,00000000000 local coding vector O
l0ooO0oo0ooDoOo0OO0,0000D00000000 1000
O0. 00000 local coding vector OO OO0, 00 (O
(4,5,6)) D000 Ne-ECCODOODOO.
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yuye M

0000,000¢t 00000000000 z€eF0z=
b1, = (y(€13),y(€15),y(69)) 00000.000,000¢0
OVOOO U, 00000 Va={a(2,3,1) |a €Fs}, Uy, =
{(1,0,0),(0,1,0),(0,2,0),(0, 1),(1,1,0),(0,2,1)} 0O00.

2))

{M%:{(v,)_,/) eM

00000.000,B;'0|07'(t)|xk000, (k+|E|)xk
oo BtBlDEI[ID[ID kxkD0O00O0DOODOOOO
oo.

000 200, ¢, = (y(es),yleis),y(es)) DO OO DO

(D1D1DO)D£a;irllﬁl(DplD(%t = {(1.0,0),(0,1,0),0.0,1), 0,(1+15)x300 By, O B, =|[fis, fis, o) 000. 00
AR 0,00 fi,1<j<16,000 (I-F)"'0000 j00
1 ) VR = = )

oooo vz oooooo v, DHDODzDDDDDDDD 0ooD00000.0000,B, 01000000000

(1,1,0),(1,0,3)DDD,Ht2:{103}IIIDD. [2,3,1]000.00,B,'=[1,1,1]" 000.

0000000i=3)eFi0000,00¢&=(0,0,2,0,...,0)4.4 OO0

F¥O0000000000.000,e0000 es00000DO 41000000000000000000000, step

020000000000000.000,000¢:00000 4—-5—-6—-7—-4000 stepd —-5—-7—-4000

000 2 = (5, 8) = (7, 0)+6:(0, ) = (1,4,3)+(0,4,2) — EI[I[I[I[I[I[I[I[I[I[IDDD‘E.‘DDDDIZIIZIIZI[I,DDDD

(1,3,0)0000000000. ;] 000. 000, U] < (¥Y=|E|OOODO. 0ODO,

410000000000,000000 2= (1, DMDDDDDDDD,DDZ'DDDDDD ¢ 00000ooon

000 (Step 1), 2 0000000000 o(z) = (4, oooooooon.

000 (Step 2). o(z) # (0,0) OO (Step i) ute [I}I]

,o(w) 0000000 (Step 4). 0000 $h=3(0,2,1)%€
/éDDDDDDDD,U(u):(2,3)D[IEID[I[ID(Step s Loooon

4). deg o(z) = deg o(u) = 1 00, m = 1000 (Ste 0000,Ne-ECCO00,«0000000000000

5). 0'1(2):4701(u):2|]|],0(z):(4,1):%(2,3) DDDDDD,DDT’DDEDDDDDDDDDD.

glgz))a(u)DDDDDEIDDDDEI ooo z—“lgz§u: 0000000+ eF0000000,w@)<a0000

o1 (u ’ 1(u - |E|

(1,3,0) — 2(0,2,1) = (1,—-1,-2) = (1,4,3) 00, 0000 g g em_m(elfjnm. f]elDEg E Fq S?%DDDDDDDDDD' DDDDDD » U

t , z = @1, € .
00000 ¢,7((1,4,3)=(3)000000000 (Step 6) 0 (13)00000000 U, 0000 000 u,...,us
43 00 ¢, 00 ooo. oopoooooo (Y oooo. ooOOO

Oooo,00000000000D0D0OD0O0O0O0 ¢, 00
DDDDDDD o, UO00O0ODOOODOOOODODO. OO0
0, Koetter O [10] O Section III.A. Transfer Matrices O O
0000000000000000000 |E|x|E/ 0000
(adjacency matrix) F OO OO0 (k+ |E|]) x (k+|E]) 0O
FFOooooOoooOoOo. 000, FO0O00000000000
goboocooooooooooo.

o00o0ooooooo0o0oo0o0o Gooooooo

0000000000000000000000000 F'O
DDD,DDDDD(k+wnxw+ummmmmm,mmm
0,000000000000.000,0 (0)0000,0
000 (0000)00000,000 eg,e1,...,e15 0000
oooooo.

ro 1 1 1 0 0O O O O O O O O o o o

o o o0 o 1 1 O O O O o O o o o o

o o o0 o o o 1 1 0 O o O o0 o o o

o o o0 o0 o o o o 1 1 o O O 0 o0 o

o o o0 o0 o o o o o o o o o o o o

o o o0 o o o o o o o 1 0 o0 o o o

o o o0 o o o o o o o 1 0o o0 o o o

F/_ o o o o0 o o o o o o o 1 0o o o o

- o o o0 o o o o o o o o 2 0 o0 o o

o o o0 o o o o o o o o o o o o o

o 0o 0 O o o O O o o o o0 1 1 0 O

o o 0 o o o O o o o o o o o 1 1

o o 0 o0 o o o o o o o o o o o o

o o o0 o0 o o o o o o o o o o o o

o o o0 o0 o o o o o o o o o o o o

o o o0 o o o o o o o o o o o o o

oo F’[II] Transfer Matrix(Theorem 3 in [10]) 00 O
(I-F)'00000 (k+|E)x (k+|E)DO (I-F')~
I+F +F?4+...00000.000,7/00000000.
oooo,(I-F)'=I+F+F?+F34+r*00ooo.

0000 teTO000,t000000000000000
(I-F)"'000000000000000 (k+|E|)x|T™ (1))
00000 B, 000.0000000,007000 00
0000 ¢ 0,

o:(i,0) = ([1, 0] + [Ok, €]) Bt

000000000, 000,0,0,0000000 |E|, k
000000000. [4,0g] 070 06000000000

000. [0, 000000,
00,0 (16)0000 ¢ 0000000,2€V0000

¢;' 0

g
1:

(16)

¢; ' (2) = 2B; " (17)

Jue €U, 000,000000000 (1®)OUOODO
v €eF, 000000D0ODO.

U
Ht[ |

Uq

ULy .-
V1, --ey

T

] { ] ]—cr(z)T

v1,..,v0, 00 (18)00000000,000000000,0

00000 000000 :0000000000.

O0,ur,...,uq O vl,...,vaDDDDDD,DDDDZ?:lviui
00000. 0000, 000000 20 3%, v 00
z=Y 0 v O, Hi(z— Y0 viw)” =07 0000. 00
000, (z-3%,vww) €12,00000. 000, ¢ (2 -
> vwu)0000000000000000.

00,0000000000«000000,0 (18000
O ui,...,uo 0 vi,..,0, OO0O0O000O000O0OOO Zia:lviui
ooooooooooono.

o000, 0 (180000000000, u,...,us O
V1,0, 0000000, u),...,uy €Uy O vi,...,v, € F,
000000000000000, 3%, viu =Y o, viu; O
oooooooooo.

00000 3¢, vww # >, viu; 0000, 0000
00000000, 00,00000000, Y0, v —

(18)

S viup£0000. 000, ut,... % O v1,...,vq 00
00,000 ul,...,up O vf,..,v, 00000, 0 (18) O
0000000, H(S jviwi — Yo viup)” =07 000
OO0. 000,0# (O, viui —y o viug) € Vo 0000

0. 00,0000 Z;’:luiui—zﬁzlv;ugm,mmmm 2a
00 ui,...,Ua,th,..,up 000000000000000
0000, w(e) <2000 ¢0,¢) =30, viug — S0, vl
000000 ¢ eFf' 00000, 00000, kO0000
# (D5 viug — f‘lvluz)eVg[IDDD[l.D[lD

0
0# (s,

)

O
a, viug — S0 viui) € Ve NV3 0000000
IZIDDD.DDD,DDDDD,Na-ECCDDDDDDDDD
0)00000.000,%% vu =%, vau,0000
00

ooooo.

00 U, 0000 «000 uy,...,ue 000000000
000000. 0000000000 e0o0Ooo, (9)
00000000000000,0 (18)0000 ui,..., %
0 w,..,ve 000000000000000. 000,00
oo (Y“YYooooooOooDoOOOOODOOOOOOOOO
oooao.
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oood«bOD0O0ODO U;O000O0O0O0OC0OCOOCOCOCOOOO

Pa(Us) = {{ur, ... ua} [{ur,. . ua} C UL (19)
00O0. 0000, |p.®)| = (YYooo. ooo, O
0 9o(U) 0000 {uty...,uer 000, uty...,ueq OO
oooooooooo F, 000000000000, OO
00000 spn({ul,...,ua})EID[ID[ID[ID. oooo,
DD p(Uy) OO0ODDO0O0ODDOOODOOODOO (O)ODo
g DDDDDDDDDDD 000, po(Uy) DOODOO
O {u1,...,ua} O {},...,u,} 000000000000
00 spn({ui,...,ua}) O spn({uy,...,u,}) 000,000
0000 spn({ut,-..,ua}) C spn({ul,...,un}) 0000
0000, {ul,... u} < {u,...,u,} 00000, OO,
pn({utss 1) € spn({ute - 00} OO spn({un, ..o ue}) 2
spn({u'l,...,ufl})[IDD,DD j[l{ul,...,ua}[l{u’l,...,u/}
gooooo.

0000 (pa(Uh),<) 0000, 00, pa(U) 0000
00 {u1,...,ua} O {ul,...,usr} 000, {u1,...,ua} =
{u},...,w,}0000000000.0000, {u,...,us)
000, 0 (1800000 v1,...,vo 000000, 000
0200000, {u,...,u,} 000000 (18)00000

vi,..,v, 0000000.0000,0 (18)0000000
000000000, p.(U) 00000000000000
000,0000 (pa(Ux),<)00000000000000
0000000000. 000, (pa(U:),<) 0000000
00Oo0000000D00O0.

maximal(pa (Uz)) (20)

0000, Ne-ECCOODOO «O00ODOO0O0ODOOODOOO
goobooooobooobobuooobboobobooo.
Initialize M = maximal(pa (Ut)).
1. Input the received vector z.
2. Compute o(2)" = H;2".
3. If o(z) = 0 then output the information vector ¢; *(2)
and halt else goto 4.
4. Choose an {ui,...,ua} € M.
5. If the solution v1,...,vs of the linear system(18) for
u1,...,Uq can be found then goto 6 else goto 7.
6. Output the information vector ¢; '(z — S0 viu;)
and halt.
7. Update M = M \ {{u1,...,ua}}. If M = 0 then
output “Error is detected” and halt else goto 4.
goooooopoooboboboboooooog, step 4 —
5 -7 —-400000000000000O00O000O0. OO
000000,0000 |maximal(p.(U:)] 000, 000,

Imaximal(pa (U:))| < |pa(Ue)| = (Y ODODDDO.

6 0OO4U

6.1 0OOOOO
ooog,NECCO0,000000000000.
gboboo,0oboooocooobooocoobooboooog,

ubooooooooboooobobooboboooboobooobooooooo,

gooooooooooooboboooooooooooooon

oooooooooooooog. .
ugoooo,ocoobood iEFEDDDD,DD e =

(el,....elp) €F' 00DDDOOO. DOD,0000,0
00000 z2=¢(i,¢) 000 € 00000

F(e)={i|e;#0, 1<i<|E} (21)
00000000000000. 0000, w(e) <200
oooooooo.

0i1<i<|ED0D0D0,0000¢ceFF OO

0000000 10,00000000 OEIDEIDEIDD
00000, 000000000000000,00 &0,
&—Zii‘lelelzzzeﬂ,)eelI]IIIIIIEIEIEI[IEI[I

00 ¢ 00000 F(e )DDDDDDDDDDDDD
Ui(é) = {6(0,&) | & € FF' w(e;) =1 for i € F()} (22)

OO0D00O. 000, Ude )DDDDDDDDDDF good
oono

Vi(¢') = spu(Ue(€')) (23)
goooooo,bogoog Vt(_;)[l[l[l[l
m, = dimV; (€' (24)

000.000,0000 Vi(¢)DOODOO,U(¢) 000
000000 m, 0000,

u’l,...,u;n; eUt(Q) (25)

000.00000,¢(0,6¢) =60, X, pa) €iés)
:ZZEF(E ep(0,&) e V(e)DD,00 ¢ 0000 ¢0,é)
0, Vi(¢) 000 wy,...,u,, 0000,0000 F, 000
000000000000O000.
(Uﬂ,...,viﬂi)yé(o,...O)DIZIEIEImQDEIEIEI[I Vi,
F,000,ui,...,u,, 0000000000, 7 viuj # 0
ooooo. w(e )<2a[|[| F(@)CFOOOD |F| = 2a
D00 FCEOODODD. 00000, 0 # Y™ vl €

Vi(e) C Ve 0OODO ()DD,Zizlv{vug ¢V, 0000
0. 0000, (4,...,0,) # (0,...,00 0000000

vi,...,v;niE]FQEI[I[I,DIZIIZI[I[I[I[I.

mi
T 2: 1 INT 2: / 1T 1T
O #Ht( ’Uiui) = vthui = V;0;
i=1

i=1 i=1
000,00, 1<i<m; 000000000000000O0O:

T T . /
o; = Huy , 1 <0< my,

oooog, e,...,0,, 0000000000000000.
ooo, (T (@) — k) xmy 00O [UT,...,UTTL;]DDDDD,
rank[a{,...,a:l;]:m;[l[l[l[l.

0000,00000000. wE) < 2000000
"eFP'ooD,0000 ¢0,¢)0,00000 m; 00
Ul Uy DDDD,¢(6,E/):2”” viu, 00DD0OO00D
0,00000 ,...,v, €F, 0000000,

ooooo,
my my mi
> viHwi" = Hi( up)" = He$(0,¢)"
i=1 i=1 i=1
= H¢(G,e)" = Hz" =o(2)" (26)
0 rank [of,...,00,] =m; 00,000000 z = ¢(i,€)
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6.2 0O0OO0OO0OO
1. Input the received vector z and the information F(e’)

of error locations for the erasure ¢/. (See the eq. (21)
for F(e').)

2. Compute o(2)T = Hy2T.

3. If F(e') = { then goto 4 else goto 5.

4. If o(z) = 0 then output the information vector ¢; *(z)
and halt else output “Error is detected” and halt.

5. Find Ui(¢’) from F(€'). (See the eq. (22) for Us(€).)

6. Find the dimension Tt of the linear space V;(¢’). (See
the eq. (23) for Vi(e’). )

(Ul € Ur(€) of Vi(€).

8. Compute of = Hu!T for alli, 1 <i<mj.
9. Find the solution v1,...

S ol = o(2)"
10. Compute z — > ;-4 vjuj and output the information
vector ¢; ' (z — S0 viug), and halt.

7. Select a basis uf,...

,vm; of the linear system

6.3 0O0OO0OOO

420000000000000 Ne-ECCOOODO. O
0,0000000000000¢ 0000000000
oooo.

00,00000004=(4) €eF0000,00 ¢
(0,3,2,0,...,0) e F° 000000DODOOO. OO0, ¢
000 e 0 e; 00000000000 30 200000
ooooooo.

0000,000¢ 00000000 2= ¢,
000000000, 0000000, 00 e
F(e )_{2,3}DDD.
620000000000,000000 z=(1,4,1)0
F(e') ={2,3} 00000 (Step1). 2000000000
O o(2) = (0,4) D000ODO (Step 2). F(e) # 0 00 (Step
3),00, F(¢) 00000 U(¢) = {(1,1,0),(0,2,1)} OO
O (Step 5). Ux(¢) 00ODDODDODD Vi(d) 00O
00000,m,=2000 (Step 6). 000, Vi(e )DDDD
(uf,us) = ((1,1,0),(0,2,1)) DO O (Step ) 000, uy,ub
000000000000000 o1 = (2,1),02 = (2,3)

Ood

)=(1L,41)
ooooo

Le ‘M

~

OooOoO (Step 8). 2x200 [o],07] = [22]557
[of,07]” [ ] 0000000, 37 vol =a(2)”
0000 (vi,vs) = (3,2) D000 (Step 9). OOO, 2 —

(3us +2u3) = (1, ,) (3,2,2)=(3,2,4)0000,000
000000 ¢;'((3,2,4)) =(4) 00000 (Step 10).

7 00+0000(001)

0000,00 +000000000000000000
ooooo.
00000007eF0000000,00 €= (ei,...
FF'ooo E/—(e’l,.. elp) €FS 000D00DOOO0. O
00, 2w(@) +w(e) <2a00000.
000,000¢00,000000 2= ¢(;é+¢)00
000000,00 ¢ 00000 F(e )DDDDDDDDD
EIIIIIIIEIEI.(F( /YO0OO0OO000 (21)000)
00000000000000,0000+0 80

w(@), (27)
|22 (28)

v

O0o000.0000,w(e) <pO00000COO0ODOO.

,eg|) €

000 t00,0000 F(¢)ODO Ul(e)DDDDOO000
0ooo. (U(¢)0D00000 (22)000)000,0 (19)
0 po(U;) 0000000000,

s = {{ur,...,us} UUL(E) | {ur,...,us} C U\ Ur(e)} (29)

00000. 00 pe 00000 0,000000,000000
0000 B++4000.000,00 ps0000 (WG
ooo.

00 ps 0000 {u,...,uss,} 000, 0000000
0(30)00000 v,...,vs4, €F, 000000000,

T

Ht{ ] ] { ] ]=a<z>T (30)
UB+~ VBt

00 pe 00000 {uy,...,up4,3 000, v1,...,v844 00O
(30)bUoOoUOoO0On,50000,000D00000DOO
goooooooobooooooobooooooboo,oboooon
0,000000:{000000000000000000
agoo.

z:¢t(z,e+e)DDDDD F()yDDoOoOo,O00e000 €
00000000000000000 o) =H" 000

0¢00000000,00 0000000000000
ooooooooooooboobooooooooooobooon
O00.0000000,[11]00 Forney 0 BCHOODOO
goboboooooobooooooooa.

000000, 00 eeFf ooo ¢ eff O, 2weE) +
w(e)<2000000000.

0210 (22)0000,00 ¢ 000 F(e)O U(e) O
0000000000,00 000000000000,

F(e) =
Ui(€)

000,0000000000000,F@)NF(E)=000

I:I[IDI]I:I[I 000, Ul(e) O Uge )DDDDDDDDDD
oooog Fy DDDDDDD

spn(U:(€)),

spn(U:(e'))
0000000, 000,V 0000

{ilei#0, 1<i<|E[},
{6(0,&) | & € FY¥' w(&;) =1 for i € F(&)}.

V. =
Vi =

my = dimV}
ooo,

m; = dimV; — dimV; N V/

000. 0000, dim(Vi+ V) =mi +m; 000. 000
IZIVtIZImtDD[I[ID Ul(e)DDooooo,

ul, ... ,ulmé € Us(e)

0D00.000,u,...,u, 0000,V +V/ 0000

’ ’ * *
ul,.‘.7um£,u17...,um;

DO00.000,uf,...,u €U:(8) 000,
00 ¢000 ¢ 000000000000000 ¢(0,8) €

Vi, ¢>(65')evtDDDDDD,¢(0,e+e'):¢(,é‘)+
#(0,¢) e Vi+V/. 00DOODO, ¢0,6+¢)0 Vi+V/ O



ooooo u'l,...,uiné,ui...,
oooooo.oooo,

u,» 00000000000
t

00oooooogd o,...

ooo.
00,000¢00 V00000 H,0000000i0
00000000 keFy @ 1<i<|P-@)-k0O0O
ooooo.
061<¢<T~(t)|—k—m,000,0000 H,0O¢0
0004+m, 00000 m,+1000000000000
O (m,+1)x |0~ (1) 00000 HY00D0. 000000

’ * *
3 Uy VTs e e ey Uppe € F, 0000

¢(@,e+¢)0 HP 0O0OODOO00O (or,...,00m;) 00
ooooooao.
0ty 0my)” = HPG(E+)T

_ Ht(e)U*TV*T + Ht(Z)U/TV/T(Sl)

0oo,u* Vv U,v'0,0000000000 mix|T™ ()]
00,1xm;00,m,x|T~(#)|00,1xm, 000000

oo:
uy u
uv=1| | |, U=| | [,
* !
umz‘ um/
V*:[vi‘,...,vfnr}, V/:[Uiv---yv;n;]-

000,0 41<¢<|T~()|-k—-m,000,0 (31)00

000200000 (m,+1)xm,00 HPu'T00o000

(HPy'")T 0ooD0o0000000000000.
HOUT (O,

) m+1)T:OT (32)
oooo (HPU'™T o m;x(m;+1)DDDDDDD7

(£) (£) +O
m+1;«£0DDDDDDDDDDTl e ,+1€FqD

oooooooo.
061<¢<|I~(t)-k-m,000,000000

OtyevysOpim! Ty yeeey o
4m) 0 (17,7 ,) 0000 60000, 0

(31)0 (32)00,00000000

* 4 £
o, = (Tl(),...,T( ,)+1)(0'[7...,O'Z+mg)T
= (Y HOTTVT L BTV
3 4 (¢ * *
= (Y EOUTYT
my
= nUTVT =3 "wihpuit (33)
D00000000. 000, A = (1?,...,79, )H" €
t
FI @ poo,00001<e<|0-()|-k-m, 000,
(£?+1 750DDIZIDIZIDIZIDIZI By By ey OO

goooooooooooa. D(33)DD gooooooo
o; O, ui, ..., u/DDDDD d000000000000
DDDDDDDDD

0000, T @) -k00000000 o1,...,00— )
DDDD@'DDDDDDDDDH—‘()‘—/{: m, 00000
00000 o, 0oy, 000000000,
dimV{ =m; 0 mf+m; = dlm(Vt—i—Vt) < dimV;+dimV}
00, mf <dimV; < |U4(8)] < w(@ D00O00. 00O,

20 <n—k<|D(t)] -k, 20w(@) + w(e) < 20, m, < w(e)
00, 2m; <2w@) < |l (t)|-k-m,00000. 0000
0,0 (18)0000000 e000O0ODDOOOOODDOOO
ogd

hy o1
| U*TV*T _ | (34)

hy ol
[T (8)|—k—m}

[T~ ()| —k—m;

gooooooogd.

00000000000000000000000000
00000,000,000000000000000000
O00. 0 (28)00000,mf <wE) <B00000. 0
0,28 <2a—w() < I~ (t)|-k-m,00000. O
O000,0000000 (34)0000 mf 00 uf,...,u,

v, 00000 800 wi,...,ug € U\ Uy(¢') O
vi,...,vg €[, 00000000,500 70000000
0000000000000000000000000000
oooooooo.

9 04

Ne-ECCOOOOOOOOOOOOOOOOOOO,OO0
goboboooooooooooboboooboooo.ooo,oo
goboocoooooo.ooobooooo,bbooooboooon
gobobocoooooooooobooboooobo. oco,00o0000
gooooooooooooooooooboooooooon
oooog.

ooog

[1] N. Cai and R.W. Yeung, “Network coding and error
correction,” Proc. ITW’02, 2002.

[2] R.W. Yeung and N. Cai, “Network error correction,
Part I: Basic concept and upper bounds,” Communi-
cations in Information and Systems, vol.6, no.1, pp.19-
36, 2006.

[3] N. Cai and R.W. Yeung, “Network error correction,
Part II: Lower bounds,” Communications in Informa-
tion and Systems, vol.6, no.1, pp.37-54, 2006.

[4] Z. Zhang, “Network error correction coding in pack-
etized networks,” Proc. ITW’06, Chengdu, China,
pp.433-437, Oct. 2006.

[5] Z. Zhang, “Linear network error correction coding in
packetized networks,” IEEE Trans., on IT, Vol.54,
No.1, pp.209-218, Jan. 2008.

[6] S. Yang and R.W. Yeung, “Characterizations of net-
work error correction/detection and erasure correc-
tion,” Proc. NetCod 2007, UCSD, San Diego, Cali-
fornia, USA, Jan. 2007.

[7] S. Yang, C.K. Ngai, and R.W. Yeung, “Construction
of linear network codes that achieve a refined Singleton
bound,” Proc. ISIT 2007, pp.1576-1580, Mice, France,
June 2007.

[8] R. Matsumoto, “Construction Algorithm for Net-
work Error-Correcting Codes Attaining the Single-
ton Bound,” IEICE Trans., Fundamentals, Vol.E90-A,
No.9, pp.1729-1735, Setp. 2007.

[9] H.Bahramgiri and F.Lahouti, “Block network error
control codes and syndrome-based maximum likeli-
hood decoding,” Proc. ISIT 2008, pp.807-811, Toronto,
Canada, July 6-11, 2008.

[10] R. Koetter and M. Medard, “An algebraic approach
to network coding,” IEEE/ACM Trans. Networking,
vol.11, no.5, pp.782-795, Oct. 2003.

[11] G.D.Forney, “On decoding BCH codes,” IEEE Trans.
on IT, vol.IT-11, no.4, pp.549-557, Oct. 1965.



